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BSEH Practice Paper (March 2024) 

CLASS: 12th (Sr. Secondary)      Code: D 

Roll No. 

 

रसायन ͪव£ान 

CHEMISTRY 

[Hindi and English Medium] 

ACADEMIC / OPEN 

[Time allowed: 3 hours]     [Maximum Marks: 70] 

________________________________________________________ 

 कृपया सुǓनिæचत करɅ ͩक इस Ĥæन पğ मɅ मुǑġत पçृठ संÉया मɅ 21 हɇ 
और इसमɅ 35 Ĥæन हɇ। 
Please make sure that the printed pages in this question 
paper are 21 in number and it contains 35 questions. 

 Ĥæन पğ के दाɃ ओर Ǒदए गए कोड नàबर को छाğ ɮवारा उƣर-पुिèतका 
के पहले पçृठ पर ͧलखा जाना चाǑहए। 
The Code No. on the right side of the question paper should 
be written by the candidate on the front page of the answer-
book. 

 ͩकसी Ĥæन का उƣर देना शुǾ करने स ेपहले उसका Đमांक ͧलखना होगा। 
Before beginning to answer a question, its Serial Number 
must be written. 
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 अपनी उƣर पुिèतका मɅ खालȣ पÛना/पÛन ेन छोड़Ʌ। 
Don’t leave blank page/pages in your answer-book. 

 उƣर-पुिèतका के अǓतǐरÈत  कोई अÛय शीट नहȣं दȣ जाएगी। अतः 
आवæयकतानुसार हȣ ͧलखɅ व ͧलख ेउƣर को न काटɅ। 
Except answer-book, no extra sheet will be given. Write to 
the point and do not strike the written answer. 

 परȣ¢ाथȸ अपना रोल नंबर Ĥæन पğ पर अवæय ͧलखɅ। 
Candidates must write their Roll Number on the question 
paper. 

 कृपया Ĥæनɉ का उƣर देने से पूव[ यह सुǓनिæचत कर लɅ ͩक Ĥæनपğ पूण[ 
व सहȣ है, परȣ¢ा के उपरांत इस संबंध मɅ कोई भी दावा èवीकार नहȣ ंͩकया 
जाएगा। 
Before answering the questions, ensure that you have been 
supplied the correct and complete question paper, no claim 
in this regard, will be entertained after examination. 

________________________________________________________ 

सामाÛय Ǔनदȶश:  

 (i) सभी Ĥæन अǓनवाय[ हɇ। 

 (ii) वèतुǓनçठ Ĥæनɉ के सहȣ ͪवकãप ͧलखɅ। 

(iii) Ĥ×येक Ĥæन के अंक उसके सामने दशा[ए गए हɇ। 

General Instructions:  

 (i) All questions are compulsory. 

 (ii) Write the correct option in objective type questions. 
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 (iii) Marks of each question are indicated against it. 

  

1. Which of the following is an example of ideal solution? 1 

a) Bromobenzene and Bromoethane 

b) Chloroethane and Chlorobenzene 

c) Benzene and Ethanol 

d) Benzene and Toluene 

Ǔनàनͧलͨखत मɅ स ेकौन सा आदश[ ͪवलयन का एक उदाहरण है? 

a) ĦोमोबेÛज़ीन एव ंĦोमोएथेन  

b) Èलोरोएथेन एवं ÈलोरोबÛेज़ीन 

c) बÛेज़ीन एव ंएथेनॉल  

d) बÛेज़ीन एव ंटॉलूईन  

2. Which of the following is not affected by catalyst?  1 

a) Enthalpy 

b) Gibbs energy 

c) Speed of reaction 

d) None of the above 

Ǔनàनͧलͨखत मɅ स ेकौन उ×Ĥेरक स ेĤभाͪवत नहȣं होता है? 

a) एÛथãैपी (ऊजा[)   

b) ͬगÞज़ ऊजा[  

c) अͧभͩĐया का वगे  

d) ऊपयु[Èत मɅ स ेकोई नहȣं  

3. What is order of thermal decomposition of HI on gold surface?  

1 

a) 1 
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b) 1.5 

c) 0 

d) 0.5 

èवण[ सतह पर HI के ऊçमीय ͪवयोजन कȧ कोǑट Èया है ? 

a) 1  

b) 1.5  

c) 0   

d) 0.5    

4. Which of the following ion has highest oxidation state of Mn. 

           1 

a) Mn2+ 

b) MnO4
2- 

c) MnO4
-  

d) All of the above  

Ǔनàनͧलͨखत मɅ स ेͩ कस आयन मɅ Mn कȧ अͬधकƣम ऑÈसीकरण अवèथा 

है?   

a) Mn2+ 

b) MnO4
2- 

c) MnO4
-  

d) उपयु[Èत सभी  

5. Which of the following has the highest magnetic moment?  

1 

a) V2+ 

b) Ti2+ 

c) Cr2+ 
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d) Co2+ 

Ǔनàनͧलͨखत मɅ स ेͩकसका चुंबकȧय आघणू[ सबस ेअͬधक है? 

a) V2+ 

b) Ti2+ 

c) Cr2+ 

d) Co2+ 

6. What is oxidation number of Ni in [Ni(CO)4]?   1 

a) 0 

b) 1 

c) 2 

d) 4 

[Ni(CO)4] मɅ Ni कȧ ऑÈसीकरण सÉंया Èया है?   

a) 0 

b) 1 

c) 2 

d) 4 

7. Which of the following has the highest boiling point?  1 

a) Bromomethane 

b) Bromoform 

c) Chloromethane 

d) Dibromomethane 

Ǔनàनͧलͨखत मɅ स ेͩकसका Èवथनाकं सबस ेअͬधक है?  

a) Ħोमोमेथेन 

b) Ħोमोफॉम[  
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c) Èलोरोमेथेन  

d) डाइĦोमोमेथेन   

8. Which of the following is fastest to react by SN1 mechanism?

           1  

a) tert-Butyl bromide 

b) sec-Butyl bromide  

c) Isobutyl bromide 

d) n-Butyl bromide  

Ǔनàनͧलͨखत मɅ से कौन सा SN1 ͩĐयाͪवͬध ɮवारा अͧभͩĐया करने के 

ͧलए सबस ेतीĭ है? 

a) tert-ÞयǑूटल Ħोमाइड  
b) sec-ÞयǑूटल Ħोमाइड  
c) आईसोÞयǑूटल Ħोमाइड  

d) n-ÞयǑूटल Ħोमाइड  
9. Which of the following is obtained from isopropyl benzene?

           1 

a) Phenol 

b) Acetone 

c) Both of the above  

d) None of the above 

Ǔनàनͧलͨखत मɅ स ेÈया आइसोĤोͪपल बेÛजीन स ेĤाÜत ͩकया जाता है? 

a) फ़ȧनॉल  

b) ऐसीटोन  

c) उपयु[Èत दोनɉ   
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d) उपयु[Èत मɅ से कोई नहȣं   

10.  Which reagent is used to yield picric acid from phenol? 1 

a) Conc. H3PO4 

b) Conc. HNO3 

c) Dilute H2SO4 

d) Dilute HNO3 

फ़ȧनॉल स ेͪपͩĐक अàल ĤाÜत करने के ͧलए ͩकस अͧभकम[क का उपयोग 

ͩकया जाता है? 

a) सांġ H3PO4 

b) सांġ HNO3 

c) तन ुH2SO4 

d) तन ुHNO3 

11. Which of the following does not give iodoform test?  1 

a) Ethanal 

b) Acetone 

c) Benzaldehyde 

d) Acetophenone 

Ǔनàनͧलͨखत मɅ स ेकौन सा आयोडोफॉम[ परȣ¢ण नहȣ ंदेता है? 

a) ऐथेनैल   

b) ऐसीटोन  

c) बÛेजिैãडहाइड   

d) ऐसीटोफ़ȧनॉन  

12. What is the major product formed by Friedel-Crafts 

methylation of benzoic acid?      1 
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a) o-methylbenzoic acid 

b) m-methylbenzoic acid 

c) p-methylbenzoic acid 

d) None of the above 

बÛेज़ोइक अàल के ĥȧडले-ĐाÝɪस मेͬ थलन ɮवारा गǑठत Ĥमुख उ×पाद Èया 

है? 

a)  o-मेͬ थलबेÛज़ोइक अàल 

b) m-मेͬ थलबेÛज़ोइक अàल 

c) p-मेͬ थलबेÛज़ोइक अàल 

d) उपयु[Èत मɅ से कोई नहȣं  

13. Which of the following regulate glucose level in blood? 1 

a) Insulin and Thyroxine 

b) Epinephrine and Norepinephrine 

c) Insulin and Glucagon 

d) Glucagon and Estradiol 

Ǔनàन मɅ स ेकौन रÈत मɅ Êलूकोस के èतर को Ǔनयंǒğत करता है?  

a) इÛसुͧ लन और थायरॉिÈसन 

b) एͪपनेफǐरन और नॉरएͪपनेफǐरन 

c) इÛसुͧ लन और Êलूकागॉन 

d) Êलूकागॉन और एèĚाडाइऑल 

14. How many hydrogen bonds are formed between adenine and 

guanine in a DNA?        1 

a) 0 

b) 1 
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c) 2 

d) 3 

DNA मɅ एडǓेनन और ÊवाǓनन के मÚय ͩकतन ेहाइĜोजन आबंध बनते हɇ? 

a) 0  

b) 1  

c) 2  

d) 3  

15. The question below consists of two statements: Assertion (A) 

and Reason (R), answer the question by selecting the 

appropriate option given below.      1 

Assertion (A): Aniline does not undergo Friedel-Crafts reaction. 

Reason (R): Aniline being basic forms salt with aluminium 

chloride.  

a) Both A and R are true, and R is the correct explanation 

of A.  

b) Both A and R are true, and R is not the correct explanation 

of A.   

c) A is true but R is false.  

d) A is false but R is true. 

Ǔनàनͧलͨखत Ĥæन मɅ दो कथन है: अͧभकथन (A) और कारण (R), Ĥæन 

के नीचे Ǒदये गए उपयुÈत ͪवकãप का चयन करत ेहुए उƣर दȣिजए।  

अͧभकथन (A): ऐǓनͧलन ŉȧडले-ĐाÝɪस अͧभͩĐया नहȣ ंकरता है। 
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कारण (R): ऐǓनͧलन ¢ारȣय होन ेके कारण ऐलमुीǓनयम Èलोराइड के साथ 

लवण बनाता है।  

a) A व R दोनɉ स×य हɇ तथा R, A कȧ सहȣ åयाखया है। 

b) A व R दोनɉ स×य हɇ तथा R, A कȧ सहȣ åयाखया नहȣ ंहै।  

c) A स×य है परंतु R अस×य है। 

d) A अस×य है परंतु R स×य है। 

16. The question below consists of two statements: Assertion (A) 

and Reason (R), answer the question by selecting the 

appropriate option given below.      1 

Assertion (A): o-Nitrophenol is more acidic than m-Nitrophenol. 

Reason (R): Nitro group is an electron releasing group.  

a) Both A and R are true, and R is the correct explanation 

of A.  

b) Both A and R are true, and R is not the correct explanation 

of A.   

c) A is true but R is false.  

d) A is false but R is true. 

Ǔनàनͧलͨखत Ĥæन मɅ दो कथन है: अͧभकथन (A) और कारण (R), Ĥæन 

के नीचे Ǒदये गए उपयुÈत ͪवकãप का चयन करत ेहुए उƣर दȣिजए।  

अͧभकथन (A): o-नाइĚोफ़ȧनॉल, m-नाइĚोफ़ȧनॉल कȧ तुलना मɅ अͬधक 
अàलȣय है। 

कारण (R): नाइĚो समूह एक इलेÈĚॉन ͪवमोचक समूह है।  

A व R दोनɉ स×य हɇ तथा R, A कȧ सहȣ åयाखया है। 
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a) A व R दोनɉ स×य हɇ तथा R, A कȧ सहȣ åयाखया नहȣ ंहै।  

b) A स×य है परंतु R अस×य है। 

c) A अस×य है परंतु R स×य है। 

17. The question below consists of two statements: Assertion (A) 

and Reason (R), answer the question by selecting the 

appropriate option given below.      1 

Assertion (A): Tetrahedral complexes show Geometric 

isomerism. 

Reason (R): Geometric isomerism arises due to different 

possible geometric arrangements of the ligands. 

a) Both A and R are true, and R is the correct explanation 

of A.  

b) Both A and R are true, and R is not the correct explanation 

of A.   

c) A is true but R is false.  

d) A is false but R is true. 

Ǔनàनͧलͨखत Ĥæन मɅ दो कथन है: अͧभकथन (A) और कारण (R), Ĥæन 

के नीचे Ǒदये गए उपयुÈत ͪवकãप का चयन करत ेहुए उƣर दȣिजए।  

अͧभकथन (A): चतुçफलकȧय सकुंल Ïयाͧमतीय समावयवता दशा[त ेहɇ। 

कारण (R): Ïयाͧमतीय समावयवता ͧलगÛडɉ कȧ ͪवͧभÛन संभाͪवत 

Ïयाͧमतीय åयवèथा के कारण उ×पÛन होती है। 

a) A व R दोनɉ स×य हɇ तथा R, A कȧ सहȣ åयाखया है। 

b) A व R दोनɉ स×य हɇ तथा R, A कȧ सहȣ åयाखया नहȣ ंहै।  
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c) A स×य है परंतु R अस×य है। 

d) A अस×य है परंतु R स×य है। 

18. The question below consists of two statements: Assertion (A) 

and Reason (R), answer the question by selecting the 

appropriate option given below.      1 

Assertion (A): The conductance of electricity by ions present 

in the solutions is called ionic conductance. 

Reason (R): Ionic conductance decreases with increase in 

temperature. 

a) Both A and R are true, and R is the correct explanation 

of A.  

b) Both A and R are true, and R is not the correct explanation 

of A.   

c) A is true but R is false.  

d) A is false but R is true. 

Ǔनàनͧलͨखत Ĥæन मɅ दो कथन है: अͧभकथन (A) और कारण (R), Ĥæन 

के नीचे Ǒदये गए उपयुÈत ͪवकãप का चयन करत ेहुए उƣर दȣिजए।  

अͧभकथन (A): ͪवलयन मɅ उपिèथत आयनɉ ɮवारा ͪवɮयुत के चालकƣव 

को आयǓनक चालक×व कहा जाता है। 

कारण (R):  आयǓनक चालक×व तापमान मɅ वɮृͬध के साथ कम हो जाती 

है। 

A व R दोनɉ स×य हɇ तथा R, A कȧ सहȣ åयाखया है। 

a) A व R दोनɉ स×य हɇ तथा R, A कȧ सहȣ åयाखया नहȣ ंहै।  
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b) A स×य है परंतु R अस×य है। 

c) A अस×य है परंतु R स×य है। 

19. State Henry’s law. Write its two applications.   2 

 हेनरȣ का Ǔनयम बताइए। इसके दो अनुĤयोग ͧलͨखए। 

Or 

अथवा 

1.00 g of a non-electrolyte solute dissolved in 50 g of benzene 

lowered the freezing point of benzene by 0.40 K. The freezing 

point depression constant of benzene is 5.12 K kg mol–1. Find 

the molar mass of the solute.      2 

एक वɮैयतुअपघɪय के 1.00 g को 50 g बÛेज़ीन मɅ घोलने पर इसके 

Ǒहमाकं मɅ 0.40 K कȧ कमी हो जाती है। बेÛज़ीन का Ǒहमाकं अवनमन 

िèथराकं 5.12 K kg mol-1 है। ͪवलेय का मोलर ġåयमान £ात कȧिजए।  

20. State Kohlrausch law of independent migration of ions. Write 

its two applications.        2 

आयनɉ के èवतंğ अͧभगमन का कोलराउश Ǔनयम बताइए। इसके दो 

अनुĤयोग ͧलखɅ।   

21. Draw structures of geometrical isomers of [Fe(NH3)2(CN)4]-.  

            2 

[Fe(NH3)2(CN)4]- के Ïयाͧमतीय समावयवɉ कȧ सरंचना दशा[इए।  

22. Draw structures of following derivatives:     2 

Ǔनàनͧलͨखत åयतुपÛनɉ कȧ सरंचना बनाइए:  

i) Cyclopropanone oxime 
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साइÈलोĤोपेनोन ऑिÈसम   

ii) Methyl hemiacetal of formaldehyde 

फॉमȶिãडहाइड का मेͬ थल हेमीऐसीटेल  

23. Give plausible explanation for each of the following:  2 

Ǔनàनͧलͨखत के संभाͪवत कारण दȣिजए:  

i) Cyclohexanone forms cyanohydrin in good yield but 

2,2,6-trimethylcyclohexanone does not. 

साइÈलोहेÈसेनोन अÍछȤ लिÞध मɅ सायनोहाइͫĜन बनाता है परंतु 

2,2,6-Ěाइमेͬ थलसाइÈलोहेÈसेनोन ऐसा नहȣ ंकरता है।   

ii) There are two –NH2 groups in semicarbazide. However, 

only one is involved in the formation of semicarbazones. 

सेमीकाबȾज़ाइड मɅ दो -NH2 समूह होते हɇ, परंतु केवल एक -NH2 

समूह हȣ सेमीकाबȾज़ोन ͪवरचन मɅ ĤयÈुत होता है।  

24. What is aldol? Give an example of a reaction.   2 

ऐãडोल Èया है? एक अͧभͩĐया का उदाहरण दȣिजए।  

Or 

अथवा 

Give simple chemical tests to distinguish between the following 

pairs of compounds:        2 

Ǔनàनͧलͨखत यौͬगक युगलɉ मɅ ͪवभदे करने के ͧलए सरल रासायǓनक 

परȣ¢ण दȣिजए:  

i) Ethanal and Propanone 

एथेनैल एवं Ĥोपेनोन  

ii) Propanal and Benzaldehyde 
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Ĥोपेनैल एव ंबेÛज़िैãडहाइड  

25. What is quaternary structure of proteins? Give an example. 

            2 

Ĥोटȣन कȧ चतुçक सरंचना Èया है? एक उदाहरण दȣिजए।  

26. Define molar conductivity for the solution of an electrolyte. 

How does it vary with concentration for a weak electrolyte?

            3  

ͩकसी वɮैयतुअपघɪय के ͪवलयन कȧ मोलर चालकता कȧ पǐरभाषा दȣिजए। 

यह एक दबु[ल वɮैयुतअपघɪय के ͧलए सांġता के साथ कैसे पǐरवǓत[त होता 

है?  

Or 

अथवा 

Draw a labelled diagram of standard hydrogen electrode. 3 

मानक हाइĜोजन इलैÈĚड का नामांͩकत आरेख बनायɅ।   

27. The cell in which the following reaction occurs: 

2Fe3+(aq) + 2I-(aq)  2Fe2+(aq) + I2(s) has E0
cell = 0.236 V at 

298 K. Calculate the standard Gibbs energy and the 

equilibrium constant of the cell reaction.    3  

एक सेल िजसमे Ǔनàनͧलͨखत अͧभͩĐया होती है:  

2Fe3+(aq) + 2I-(aq)  2Fe2+(aq) + I2(s) का 298 K ताप पर E0
सेल  

= 0.236 V है। सेल अͧभͩĐया कȧ मानक ͬगÞज़ ऊजा[ एव ंसाàय िèथराकं 

का पǐरकलन कȧिजए।  

28. Write IUPAC names of following coordination compounds: 

            3 

Ǔनàनͧलͨखत उपसहसंयोजन यौͬगकɉ के IUPAC नाम ͧलͨखए: 
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i) [Pt(NH3)2Cl(NO2)] 

ii) K3[Cr(C2O4)3] 

iii) [Co(NH3)5(CO3)]Cl  

29. Write the mechanism of acid dehydration of ethanol to yield 

ethene.          3 

एथेनॉल के अàलȣय Ǔनज[लन स ेएथीन ĤाÜत करन ेकȧ ͩĐयाͪवͬध ͧलͨखए।  

Or  

अथवा  

Explain how you will distinguish between primary, secondary 

and tertiary alcohols.        3 

समझाएं ͩक आप Ĥाथͧमक, ɮͪवतीयक और ततृीयक ऐãकोहॉल के मÚय 

अंतर कैसे करɅगे। 

30. What happens when D-glucose is treated with the following 

reagents?           3 

Èया होता है जब D-Êलकूोस कȧ अͧभͩĐया Ǔनàनͧलͨखत अͧभकम[कɉ स े

करते हɇ?  

(i) HI  

(ii) Bromine water 

Ħोमीन जल   

(iii) HNO3 

31. Read the passage given below and answer the following 

questions: 

नीच ेǑदए गए गɮयाशं को पढ़Ʌ और Ǔनàनͧलͨखत Ĥæनɉ के उƣर दɅ: 

The spontaneous flow of solvent through a semipermeable 

membrane from a pure solvent to solution or from a dilute 
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solution to a concentrated solution is called osmosis. The 

phenomenon of osmosis can be demonstrated by taking two 

eggs of the same size. In an egg, the membrane below the 

shell and around the egg material is semi-permeable. The 

outer hard shell can be removed by putting the egg in dilute 

hydrochloric acid. After removing the hard shell, one egg is 

placed in distilled water and the other in a saturated salt 

solution. After some time, the egg placed in distilled water 

swells-up while the egg placed in salt solution shrinks. The 

external pressure applied to stop the osmosis is termed as 

osmotic pressure which is a colligative property.    

एक अध[पारगàय ͨझãलȣ के माÚयम स ेशɮुध ͪवलायक स ेͪवलयन तक 

या एक तनु ͪवलयन स ेएक सांġ ͪवलयन तक ͪवलायक के सहज Ĥवाह 

को परासरण कहा जाता है। एक हȣ आकार के दो अंड ेलेकर परासरण कȧ 

घटना का Ĥदश[न ͩकया जा सकता है। एक अंड ेमɅ, कवच के नीच ेऔर 

अंड ेकȧ सामĒी के चारɉ ओर ͨझãलȣ अध[-पारगàय होती है। अडं ेको तन ु 

हाइĜोÈलोǐरक अàल मɅ डालकर बाहरȣ कठोर कवच को हटाया जा सकता 

है। कठोर कवच को हटान ेके बाद, एक अडं ेको आसुत जल मɅ और दसूरे 

को संतÜृत नमक के ͪवलयन मɅ रखा जाता है। कुछ समय बाद, आसुत 

जल मɅ रखा अंडा फूल जाता है जबͩक नमक के ͪवलयन मɅ रखा अंडा 

ͧसकुड़ जाता है। परासरण को रोकने के ͧलए लाग ूबाहरȣ दबाव को परासरण 

दाब कहा जाता है जो एक अणुसÉंय गुणधम[ है।    

i) What is reverse osmosis?      1 

ĤǓतलोम परासरण Èया है? 
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ii) What would happen if red blood corpuscles were placed 

in 0.5% NaCl solution?       1 

Èया होगा यǑद लाल रÈत कͨणकाओ ंको 0.5% NaCl ͪवलयन मɅ 

रखा जाए? 

Or 

अथवा 

What are isotonic solutions?     1 

समपरासारȣ ͪवलयन Èया हɇ? 

iii) Write one application of osmosis in food preservation. 

          1 

खाɮय पǐरर¢ण मɅ परासरण का एक अनुĤयोग ͧलͨखए। 

iv) Out of 1 M KCl and 1 M urea, which will have higher 

osmotic pressure?       1 

1 M KCl और 1 M यǐूरया मɅ स े ͩकसका उÍच परासरण दाब 

होगा? 

32. Read the passage given below and answer the following 

questions: 

नीच ेǑदए गए गɮयाशं को पढ़Ʌ और Ǔनàनͧलͨखत Ĥæनɉ के उƣर दɅ: 

Primary alkyl halide C4H9Br (A) reacted with alcoholic KOH to 

give compound (B). Compound (B) is reacted with HBr to give 

(C) which is an isomer of (A). When (A) is reacted with 

sodium metal it gives compound (D), C8H18 which is different 

from the compound formed when n-butyl bromide is reacted 

with sodium. 
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Ĥाथͧमक ऐिãकल हैलाइड C4H9Br (A), ऐãकोहॉͧलक KOH मɅ अͧभͩĐया 

ɮवारा यौͬगक (B) देता है। यौͬगक (B) HBr के साथ अͧभͩĐया से यौͬगक 

(C) देता है जो ͩक यौͬगक (A) का समावयवी है। जब यौͬगक (A) कȧ 

अͧभͩĐया सोͫडयम धातु स ेहोती है तो यौͬगक (D) C8H18 बनता है, जो 

ͩक ÞयǑूटल Ħोमाइड कȧ सोͫडयम से अͧभͩĐया ɮवारा बने उ×पाद से ͧभÛन 

है।   

i) Which type of isomerism is present between compounds 

(A) and (C)?        1 

यौͬगकɉ (A) एव ं(C) के मÚय ͩकस Ĥकार कȧ समावयवता है? 

ii) Write IUPAC name of compound (D).   1 

यौͬगक (D) का IUPAC नाम ͧलͨखए।  

iii) Draw structure of compound (B).    1 

यौͬगक (B) कȧ सरंचना बनाइए।    

iv) How will you convert compound (B) to (A)?  1 

आप यौͬगक (B) को (A) मɅ कैस ेपǐरवǓत[त करɅगे।  

Or 

अथवा  

What is the name of the reaction in which compound 

(A) is converted to compound (D).    1 

उस अͧभͩĐया का नाम Èया है िजसमɅ यौͬगक (A) को यौͬगक (D) 

मɅ पǐरवǓत[त ͩकया जाता है। 

33. During nuclear explosion, one of the products is 90Sr with 

half-life of 28.1 years. If 1μg of 90Sr was absorbed in the 

bones of a newly born baby instead of calcium, how much of 
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it will remain after 10 years and 60 years if it is not lost 

metabolically.         5 

नाͧभकȧय ͪवèफोट का 28.1 वष[ अधा[य ुवाला एक उ×पाद 90Sr होता है। 

यǑद कैिãसयम के èथान पर 1μg, 90Sr नवजात ͧशशु कȧ अिèथयɉ मɅ 

अवशोͪषत हो जाए उपापचयन से ıास न हो तो इसकȧ 10 वष[ एवं 60 

वष[ पæचात ्ͩकतनी माğा रह जाएगी?  

Or  

अथवा  

The time required for 10% completion of a first order reaction 

at 298K is equal to that required for its 25% completion at 

308K. If the value of A is 4 × 1010s–1. Calculate k at 318K 

and Ea.          5 

298 K ताप पर Ĥथम कोǑट कȧ अͧभͩĐया के 10% पूण[ होने का समय 

308 K ताप पर 25% अͧभͩĐया पूण[ होने मे लगे समय के बराबर है। 

यǑद A का मान 4 × 1010s–1 हो तो 318 K ताप पर k तथा Ea कȧ 

गणना कȧिजए।  

34. What are lanthanoids? Write their general electronic 

configuration. What is lanthanoid contraction? What are the 

consequences of lanthanoid contraction?    5 

लÛैथनेॉयड Èया हɇ? इनका सामाÛय इलेÈĚॉǓनक ͪ वÛयास ͧलखɅ। लÛैथेनॉयड 

आकंुचन Èया है? लÛैथेनॉयड आकंुचन के पǐरणाम Èया है?    

Or 

अथवा  

Describe the preparation of potassium permanganate. How 

does the acidified permanganate solution react with (a) iron 
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(II) ions (b) SO2 and (c) oxalic acid? Write the ionic equations 

for the reactions.        5 

पोटैͧशयम परमɇगनेट को बनाने कȧ ͪवͬध का वण[न कȧिजए। अàलȣय 

पोटैͧशयम परमɇगनेट ͩकस Ĥकार (a) आयरन (II) आयन (b) SO2 तथा 

(c) ऑÈसैͧ लक अàल से अͧभͩĐया करता है? अͧभͩĐयाओ ं के ͧलए 

रासायǓनक समीकरण ͧलͨखए। 

35.  An aromatic compound ‘A’ on treatment with aqueous 

ammonia and heating forms compound ‘B’ which on heating 

with Br2 and KOH forms a compound ‘C’ of molecular formula 

C6H7N. Write the structures and IUPAC names of compounds 

A, B and C.         5 

एक ऐरोमǑैटक यौͬगक ‘A’ जलȣय अमोǓनया के साथ गरम करन ेपर यौͬगक 

‘B’ बनाता है जो Br2 एवं KOH के साथ गरम करन ेपर अण ुसğू C6H7N 

वाला यौͬगक ‘C’ बनाता है। A, B एव ंC, यौͬगकɉ कȧ सरंचना एव ंइनके 

IUPAC नाम ͧलͨखए।  

Or 

अथवा  

Complete the following reactions:     5 

Ǔनàनͧलͨखत अͧभͩĐयाओं को पूण[ कȧिजए: 

i) C6H5N2Cl + H3PO2 + H2O  

ii) C6H5NH2 + (CH3CO)2O  

iii) C6H5SO2Cl + CH3NH2  

iv) C6H5NH2 + CHCl3 + alc. KOH  

v) C6H5NH2 + H2SO4 (conc.)  

  


